

Champ Flight Skins

Hole	Player	Score	Paid Status
1	Johnson, Roderick	3	Birdie
2			Not Paid
3			
4	Joslin, Michael Daniel	3	Birdie
5			Not Paid
6	Spruill, Matthew	3	Birdie
7			Not Paid
8			
9			
10	Hawkins, Jeff	3	Birdie
11			Not Paid
12			
13			
14			
15			
16			
17	Carrick, Chance	2	Birdie
18			Not Paid

Total Players:**18****Game Buy In:****\$10.00****Total Skins Pot:****\$180****Total Skins:****5****Each Skin Value:****\$36**

Closest to Pins (RD 1)

Championship Flight

#3: Chris Tuttle \$36.00

#17: Brian Jeltema \$36.00

A Flight Skins

Hole	Player	Score	Paid Status
1	Eikenbary, William	3	Birdie
2	Lewis, Arthur Jimmy	3	Birdie
3	Turnbull, William	2	Birdie
4	Eikenbary, William	3	Birdie
5	Lewis, Arthur Jimmy	4	Birdie
6			
7	Maschek, Michael	2	Birdie
8			
9			
10			
11			
12			
13			
14			
15			
16			
17			
18			

Total Players:**22****Game Buy In:****\$10.00****Total Skins Pot:****\$220****Total Skins:****6****Each Skin Value:****\$37****Closest to Pins (RD 1)****A Flight**

#3 - Jimmy Lewis	\$44.00
#17 - Matthew Foreman	\$44.00

B Flight Skins

Hole	Player	Score	Paid Status
1	Marra, Michael	3	Birdie
2	Marra, Michael	3	Birdie
3			
4			
5	Standish, Michael	3	Eagle
6			
7			
8	Marra, Michael	3	Eagle
9			
10			
11			
12			
13			
14	Hart, Lee	3	Birdie
15	Nowak, Dominic Nick	3	Birdie
16			
17			
18	Triplet, Samuel	3	Birdie

Total Players:**24****Game Buy In:****\$10.00****Total Skins Pot:****\$240****Total Skins:****7****Each Skin Value:****\$34**

Closest to Pins (RD 1)

B Flight

#7 - Brian Harden	\$46.00
#13 - Gene Bussard	\$46.00

C Flight Skins

Hole	Player	Score		Paid Status
1				
2				
3	Pridgen, Ronald	2	Birdie	Not Paid
4	Smith, Patrick	3	Birdie	Not Paid
5	Williams, Nick	4	Birdie	Not Paid
6	Vaughn, Lloyd	3	Birdie	Not Paid
7				
8				
9				
10				
11				
12				
13				
14				
15	Williams, Nick	3	Birdie	Not Paid
16				
17				
18	Brady, Tom	3	Birdie	Not Paid

Total Players:**30****Game Buy In:****\$10.00****Total Skins Pot:****\$300****Total Skins:****6****Each Skin Value:****\$50****Closest to Pins (RD 1)****C Flight**

#7 - Mike Boyd	\$66.00
#13 - Lloyd Vaughn	\$66.00

D Flight Skins

Hole	Player	Score	Paid Status
1	Lane, Melissa	4	Par
2			
3	Fredette, Tom	2	Birdie
4			
5			
6			
7			
8			
9	Miller, Shane	4	Par
10			
11			
12	Miller, Shane	5	Par
13			
14			
15			
16	Triplett, Charlie	5	Par
17			
18			

Total Players:**18****Game Buy In:****\$10.00****Total Skins Pot:****\$180****Total Skins:****5****Each Skin Value:****\$36**

Closest to Pins (RD 1)

D Flight#7: Melissa Lane
#13: Rollover Round 2\$36.00
\$36.00

Super Skins

Hole	Player	Score	Paid Status
1			
2			
3			
4			
5			
6			
7			
8	Marra, Michael	3 Eagle	Not Paid
9			
10			
11			
12			
13			
14			
15			
16			
17			
18			

Total Players: 83
Game Buy In: \$10.00
Total Skins Pot: \$830

Total Skins: 1
Each Skin Value: \$830

Hole in One Money	Amount
Balance Forward	\$1,014
Current Tournament	\$113
Balance	\$1,127